FC108 FCT12
2.04 kg 4.08 kg o
PROFESSIONAL 451b 90 Ib O
FCh2: 1021?“
472 mm : ol
<« 186in ———> J‘_’
N A TO T, 0
o
N R @
58
3-3 © e
© o] 0
o o
-:&E@:@D; -
FC108: 81 mm O
333 .
- Bin. —: 32in &
78 N
FC108 and FCT12 [ N ) §
U-brackets 7
_.§ &
03 © -
53
{
0L00-0ZS00V \ ENGLISH
: Forum oudspeakers weig
(@ CAUTION: F FCI108 loud k igh
28.11b (12.7 kg). FCI112 loudspeakers weigh 44.3
MI10 x 20 mm (<2) Ib (20.1 kg). Use caution when lifting to avoid
00 "o OZSOO%&ZVI’E?Q;T:&Olssa}ojdasoa injury and/or damage to the loudspeaker.
panISSa) SIUBH [ T 040 1504 WosUBIL SZOZO Choose a mounting location that will safely
(@ support the weight of the loudspeaker. Choose
a position and mounting method consistent
M8 x 30 mm (=2) with local building codes and regulations.
1. Hold the U-bracket in the desired mounting
location and mark the mounting holes. Drill four
1vNOIss3dodd p holes and mount the bracket using four M8 screws
and washers (not included).
MIO (x2) 2. Attach the included M10 bolts, M10 lock washers,
and M10 washers to both sides of the loudspeaker.
Tighten slightly, leaving room for the bracket to be
N~ placed between the washer and loudspeaker.
M6 (x2) 3. Place the loudspeaker on the bracket and tilt it to
the desired mounting angle (see Figure A).
S 4. Insert the included M6 screws, M6 lock washers,
and M6 washers into the appropriate hole on
each side of the bracket and into the loudspeaker.
MI0 (x2) Tighten all screws to secure the bracket to the
Y loudspeaker.
G,
© Y
M6 (x2) ,
Ceiling mount pitch angles
ESPANOL FRANCAIS DEUTSCH ITALIANO NEDERLANDS

wegen 12,7 kg. FCI12-luidsprekers
wegen 20,1 kg. Wees voorzichtig bij
het optillen om persoonlijk letsel
en/of schade aan de luidspreker te
voorkomen. Kies een ophanglocatie
die het gewicht van de luidspreker
veilig kan dragen. De ophanglocatie
en -wijze moeten voldoen aan de
geldende bouwvoorschriften en
-verordeningen.

pesano 12,7 kg. | diffusori FC112 pesano
20,1 kg. Prestare attenzione durante

il sollevamento per evitare lesioni

e/o danni al diffusore. Scegliere una
posizione di montaggio in grado di
sostenere in modo sicuro il peso del
diffusore. Scegliere una posizione e

un metodo di fissaggio conformi ai
regolamenti edilizi locali.

PRECAUCION: Los altavoces Forum
A FC108 pesan 12.7 kg (28.1b). Los
altavoces FCI12 pesan 20.1 kg (44.3 Ib).
Ten cuidado cuando lo levantes para
evitar lesiones o dafios al altavoz. Elige
una ubicacion de montagje que soporte
de forma segura el peso del altavoz.
Elige una posicion y un método
de montaje que cumplan con los
codigos y los reglamentos locales de
construccion.

ATTENTION : Les enceintes
A Forum FCI108 pésent 12,7 kg. Les
enceintes FCI112 pesent 20,1 kg.
Soyez prudent lorsque vous soulevez
I'enceinte afin d’éviter de vous blesser
et/ou de 'endommager. Choisissez un
emplacement de montage capable
de supporter le poids de I'enceinte
en toute sécurité. Choisissez une
position et une méthode de montage
compatibles avec les codes et
réglementations locaux en matiére de
construction.

ACHTUNG: Das Gewicht des Forum FCI108
A Lautsprechers betrdgt 12,7 kg. Das Gewicht des
FCT12 Lautsprechers betragt 20,1 kg. Gehen Sie
beim Anheben der Lautsprecher vorsichtig vor,
um zu vermeiden, dass Personen verletzt oder
die Lautsprecher beschdadigt werden. Wdhlen
Sie einen Montageort, der fur das Gewicht
des Lautsprechers geeignet ist. Wdhlen Sie
eine Montageposition und -methode, die den
ortlichen Bauvorschriften entsprechen.

ij ATTENZIONE: | diffusori Forum FCI08 ii LET OP: Forum FCI108-luidsprekers

Tenere la staffa a U nella posizione di
montaggio desiderata e segnare i fori 1.
di montaggio. Praticare quattro fori e

Halten Sie den U-Montagebugel an die 1.
gewunschte Montageposition und markieren
Sie die Bohrldcher. Bohren Sie vier Locher und

Houd de U-beugel tegen de gewenste

1. Sujeta el soporte en U en la ubicacién de
ophanglocatie en markeer de

montaje deseada y marca los orificios de

montaje. Perfora cuatro orificios y monta el
soporte con cuatro tornillos y arandelas M8
(no incluidos).

1.

Maintenez le support en U a I'endroit
ou vous souhaitez monter l'appareil et
marquez 'emplacement des trous de

montieren Sie den Montagebugel mit vier M8-
Schrauben und Unterlegscheiben (nicht im
Lieferumfang enthalten).

montare la staffa utilizzando quattro viti
M8 e le relative rondelle (non incluse).

2. Fissare i bulloni M10, le rondelle elastiche

bevestigingsgaten. Boor vier gaten en
bevestig de beugel met vier M8-schroeven
en sluitringen (niet meegeleverd).

montage. Percez quatre trous et montez le 5
support a l'aide de quatre vis et rondelles ’
M8 (non fournies).

Bevestig de meegeleverde M10-bouten,
M10-borgringen en M10-sluitringen aan
beide zijden van de luidspreker. Draai
licht vast, zodat er nog ruimte overblijft
om de beugel tussen de sluitring en de
luidspreker te plaatsen.

di sicurezza M10 e le rondelle M10 in 2.
dotazione in entrambi i lati del diffusore.
Serrare leggermente, lasciando spazio per

il posizionamento della staffa tra la rondella

e il diffusore.

Bringen Sie die enthaltenen M10-Schrauben, M10-
Sicherungsscheiben und M10-Unterlegscheiben an
beiden Seiten des Lautsprechers an. Ziehen Sie sie

nur so fest, dass noch ausreichend Platz ist, um den
Montagebugel zwischen der Unterlegscheibe und
dem Lautsprecher zu platzieren. z

2. Fijalos pernos M10, las arandelas de
seguridad M10 y las arandelas M10
incluidos a ambos lados del altavoz.
Apriétalos ligeramente, de modo que dejes 2.
espacio para colocar el soporte entre la
arandelay el altavoz.

Fixez les boulons M10, les rondelles

d'arrét M10 et les rondelles M10 fournis

sur les deux cotés de lI'enceinte. Serrez
légerement, en laissant suffisamment 3
d'espace pour placer le support entre la '
rondelle et 'enceinte.

Posizionare il diffusore sulla staffa e
inclinarlo fino all'angolo di montaggio 3.
desiderato (vedere la Figura A).

Hang de luidspreker aan de beugel en
kantel deze in de gewenste montagehoek
(zie afbeelding A).

Positionieren Sie den Lautsprecher im

MontagebUgel und neigen Sie ihn, bis der

gewunschte Montagewinkel erreicht ist (siehe 4
Abbildung A). ’

Bringen Sie die enthaltenen M6-Schrauben, M6-
Sicherungsscheiben und M6-Unterlegscheiben

an den entsprechenden Lochern auf jeder Seite
des MontagebUgels bzw. des Lautsprechers

an. Befestigen Sie den Montagebugel am

Lautsprecher, indem Sie alle Schrauben festziehen.

3. Coloca el altavoz en el soporte e inclinalo
hacia el angulo de montaje deseado

(consulta la Figura A). Inserire le viti M6, le rondelle elastiche di

sicurezza M6 e le rondelle M6 in dotazione 4.
nel foro appropriato in ciascun lato della

staffa e nel diffusore. Serrare tutte le viti per
fissare la staffa al diffusore.

3. Placez I'enceinte sur le support et inclinez-
la jusqu’a I'angle de montage souhaité (voir 4
Figure A). '

Steek de meegeleverde M6-schroeven met
de M6-borgringen en M6-sluitringen door
de bijoehorende opening aan weerszijden
van de steun en in de luidspreker. Draai
alle schroeven vast om de beugel aan de
luidspreker te bevestigen.

4. Inserta los tornillos Me, las arandelas de
seguridad M6y las arandelas M6 incluidos
en el orificio correspondiente en cada lado
del soporte y en el altavoz. Aprieta todos los 4.
tornillos para fijar el soporte al altavoz.

Insérez les vis M6, les rondelles d'arrét M6
et les rondelles M6 fournies dans le trou
approprié de chaque cété du support et
dans I'enceinte. Serrez toutes les vis pour
fixer le support a l'enceinte.

BAGE A el

FE: Forum FC108XEP— 7
A —DESI$12.7kg(28.11b) T
TLFCI12RE—H—DEEI£20.1
kg (44.3 |b) T B0 LITBHET
ELEERELIEODRE—H—%18
BLEVWESTZEDIFTTIE TV,
2AE—H—DEEELTEIIEZS
N3ESICHREHFTZIEA TS
TV I DERERR AL B LURR
BICEERL L 7R BIHPT CED 1T
FEERBLTET L,

EREPX

/N0y FORUM FC108 585838
A 12.7 AFr (28.1 BE)oFC112 #5
BEesE 201 AT (443148
ERFEARR N VD LU A B
B/ BB SRR B =]
eI B REENTEl
BoAEENS BEEAR
BRTERINI B R T T ko

[EjZNS2D

é STE:FORUM FC108 77528
BEN12.7 F5 (28.15)
JFCII2pE2REE N 201 F
75 (44.3 B2) o AHCATIE/ VD, LA
RIS A BAEN/THE LR
HIER— PN R AHZE
BREENTEME AEFTE
LS E AN S AL E A
ZET 1

POLSKI

PRZESTROGA! WACA

A GtOSNIKA FORUM FCI108: 12,7
kg (28,11b). Waga gtosnika
FCT112: 20,1 kg (44,3 Ib). Podczas
podnoszenia nalezy zachowac
ostroznosc, aby unikngc
obrazen i/lub uszkodzenia
gtosnika. Wybierz miejsce
montazu, ktore utrzyma ciezar
gtosnika. Wybierz pozycje i
metode montazu zgodng
z lokalnymi przepisami

NORSK

FORSIKTIG: ekt pd Forum
A FC108-hayttalere 12,7 kg. Vekt

pa FCT12-hgyttalere 20,1 kg.

Veer forsiktig ndr du lofter

for & unngd skade og/eller

skade pd hayttaleren. Velg

et monteringssted som tdler

vekten av hgyttaleren. Velg en

posisjon og monteringsmetode

i samsvar med lokale
byggeforskrifter.

Fgrumajm&\ausﬁw}:w
(b, 28.1) aa$ 12.7 FCY <A
FCI Y &igeall &l e (4
153 oS (b, 44.3) axS 20.1
DS Gl lf 5 Abaal il ol oL
acy Jleall cudill BSa jidl & puall
) el JS Gl e ()5
CR88) gia i 4Gy yha g i Agmaa
Adadl o lial) i) gl g (il 8 ae

1.  Hold U-braketten pa gnsket ; g ) AU D@ B RER SR Ay 228 . . . .

: budowlanymi. 5 U ZE 2 oRIBE IS PTR HY 20= —— - < U e e dalenl) A
monteringssted, og merk N e SRS o 1. REMUBCUITZ7YbZREL. .S . <

monteringshu”ene Bor fire hull og 1. przytrzymaj WSpOFﬁik Uw 1. ’I% U EEEZ?EEEFE%Q%TJ% TM%’ E[]Z %ﬁaﬁ%?L{ﬂ%oﬁgmf E§ IE{TJ‘ LI;T_‘\O)'ELLIELCED%OLT 35 Al @'AJJ 4.9 u}c_}d\ i\.\.\ﬁl\ u\SA

s Aol a8 a) g sl
MA £ 1 day )l alasiinly daleall e
(e ) A8y clils

Gleda g MY ¢ paelsa L A
MY+ a8 gl calaladl g MY« il
LAS Gaall jSa aila e Liacadll
O Al all ga g atl Aalise & )5 S0

FIMC ZEFLIE FhE ML,
£ A M8 HRETANERE (CRREFRY)
TELLR, 9
EREMIEY M10 #Ri2 M10 BIEEE
A M10 BB RE R 23R M,
AT, B REERE
FpER 2z BH=E,

SR> {55 FR PU4E M8 BRAAFIEARE (R
BERT) et 210

HEBEMTRY M10 #2128 M 10 $HTE EE]
FIMI0 BEZEFIFESEMMAlF 2
e b BHZEEIUEERBE S
B B E R 2o

wybranym miejscu montazu

i zaznacz otwory montazowe.
Wywier¢ cztery otwory i zamontuj
wspornik za pomocg czterech srub
M8 i podkiadek (brak w zestawie).

Przymocuj dotgczone sruby
M10, podktadki zabezpieczajace
M10 i podktadki M10 po obu
stronach gtosnika. Dokrec¢

monter braketten med fire M8-
skruer og -skiver (ikke inkludert).

2. Fest de medfglgende M10-boltene,
M10-laseskivene og M10-skivene til
begge sider av hgyttaleren. Trekk til
litt, slik at det blir plass til braketten 2.
som skal plasseres mellom skiven
og hgyttaleren.

3. Plasser hgyttaleren pa braketten og

T4 DDINERIT AERDMER D &
Tyiv— ((FELTWEEA) =E
BLTIZ 7y hEEDTITE T,

~NEDMIOAILEMIOO YT Dy
S — M0y v—ZRE—7
—OmEICENDS T RT Ty v
—C AE—HN—0OBIC Ty %E

vipp den til gnsket monteringsvinkel

lekko, pozostawiajac miejsce na

R B as T S 2R o Wi S /MR
B3

LB CI2LDICHO X0

O gall pSa g il sl

N umesiczente wsporia misdy 3 HEBHMEESRL AGHH  HECEENREAE BER 3 2C—n—2IoryhIROM el e gl gan T
4. Settde medfglgende M6-skruene, o | o oo G ERETEAE (BIEA. A)e T FEAERONITAEICMEITES i sllaal) Cadil 2 \.‘;\ il e
M6-l&seskivene og M6-skivene inn : mleiclg osgl .nrgwspornk| Ul e L. P PR 4 e (MAZER) ; RS e AR
i det riktige hullet pa hver side av przechyl go do zgdanego kqta 4. EBEMIEY M6 BRET M6 BIEEE 4. REBEMIEY M6 1244 M6 HTE 2ABEIH \ (Vdsal )
montazu (patrz rysunek A). 4. RIEDOM6RT M6Ow I Ty v

braketten og inn i hgyttaleren. Trekk
til alle skruene for & feste braketten 4.
til hgyttaleren.

Wit6Zz dotgczone sruby M6, podktadki
zabezpieczajgce M6 i podkiadki
M6 do odpowiednich otworéw

po kazdej stronie wspornika i do
gtosnika. Dokrec¢ wszystkie sruby,
aby przymocowac wspornik do
gtosnika.

K M6 BN ZREMFERNATFL
&,
12T, K REE A Lo

FHHEANEIP RSP ITERE

M6 B EIE AR AEERYFLIL
KimEds IR ERFT AR 2R
BEEEHmEse

—M6Dvr—%T Ty MAIE
DIURAL T RE—A—I(IZED
[TTFETIRTORIEHD T
TS5vhHEIE—H—IZLohD
CEIELEY,

clils g MY 2y A K
o2 M A1 ) culalal) M il
A (e a8 e el
Sipall H€ae e 435S S i



ENGLISH
WARNINGS/CAUTIONS

Please read and keep all safety and use
instructions.

D Contains small parts which may be a choking

@ hazard. Not suitable for children under age 3.

+ This product is intended for installation by
professional installers only! This document is
intended to provide professional installers with basic
installation and safety guidelines for this product in
typical fixed-installation systems. Please read this

document and all safety warnings before attempting
installation.

+ Unsafe mounting or overhead suspension of any
heavy load can result in serious injury or death, and
property damage. It is the installer’s responsibility to
evaluate the reliability of any mounting method used
for their application. Only professional installers
with the knowledge of proper hardware and safe
mounting techniques should attempt to install any
loudspeaker overhead.

+ All Bose Professional products must be installed in
accordance with local, state, federal and industry
regulations. It is the installer’s responsibility
to ensure installation of the loudspeakers and
mounting system is performed in accordance with
all applicable codes, including local building codes
and regulations. Consult the local authority having
jurisdiction before installing this product.

+ Use only the hardware and accessories included or
specified by Bose Professional.

+ Do not mount on surfaces that are not sturdy, or
that have hazards concealed behind them, such as
electrical wiring or plumbing.

+ Do not make unauthorized alterations to this
product.

+ Do not expose loudspeaker or mounting
components to any chemical substances that
are not specified by Bose Professional, including
but not limited to lubricants, cleaning agents,
contact sprays, or other hydrocarbon-based
solvents. Exposure to such substances can lead
to degradation of the plastic material, resulting in
cracking and creating a falling hazard.

+ Do not place or install the bracket or product near
any heat sources, such as fireplaces, radiators, heat
registers or other apparatus (including amplifiers)
that produce heat.

EU Importer: Transom Post Netherlands B.V.,

Keizersgracht 391A, 1016 EJ, Amsterdam | UK

Importer: Transom Post Netherlands UK, Squires

House 205a High Street, West Wickham, BR4 OPH |

Japan Importer: Transom Post International Japan

KK Co., Ltd. PMO Tamachi IV Shiba5-29-19, Minato-

ku, Tokyo | China Importer: Transom Post (Shanghai)

Audio Co. Ltd Room 2209, Building 1, 175 Longyao

Road, Xuhui District, Shanghai | Mexico Importer:

POST INTL MEXICO, S. DE R.L. DE C.V. Insurgentes

Sur No. 1079, 1st floor, Colonia Noche Buena, Benito

Juérez, C.P. 03270, Mexico City | UAE Importer:

Transom Post Audio Visual Recording Equipment and

Accessories Trading LLC, 504, Al Fattan Plaza, Al

Garhoud, PO Box 118355 Dubai, UAE

Bose Professional, 117 South St, Hopkinton, MA 01748

USA

Bose is a trademark of Bose Corporation.

©2025 Transom Post OpCo LLC. No part of this work
may be reproduced, modified, distributed or otherwise
used without prior written permission.

Warranty Information
This product is covered by a limited warranty.

For warranty details, visit BoseProfessional.com/warranty.

NORSK
ADVARSLER/FORHOLDSREGLER

Les og ta vare pa alle sikkerhets- og
bruksinstruksjoner.

Inneholder sma deler som kan utgjare
kvelningsfare. lkke egnet for barn under 3 ar.

+ Dette produktet skal bare monteres av profesjonelle
montgrer! Formalet med dette dokumentet er & gi
profesjonelle montgrer grunnleggende monterings-
og sikkerhetsveiledning for dette produktet i typiske
fastmonteringssystemer. Les dette dokumentet og
alle sikkerhetsadvarsler fgr du starter monteringen.

+ Utrygg montering eller opphenging av tunge
gjenstander kan forarsake alvorlig skade eller ded,
samt skade pa eiendom. Det er montgrens ansvar
a vurdere paliteligheten til alle monteringsmetodene
de bruker. Takmonterte hoyttalere skal bare
monteres av profesjonelle montgrer med
kunnskap om det riktige utstyret og trygge
monteringsteknikker.

+ Alle Bose Professional-produkter ma monteres i
henhold til bransjeforskrifter og lokale og nasjonale
forskrifter. Det er montarens ansvar a sikre at
monteringen av hgyttalerne og monteringssystemet
utferes i henhold il alle gjeldende forskrifter,
inkludert lokale byggeforskrifter og bestemmelser.
Kontakt de lokale myndighetene som har
domsmyndighet, far du monterer dette produktet.

+ Bruk bare deler og tilbehgr som fglger med, eller
som er spesifisert av Bose Professional.

+ Skal ikke monteres pa overflater som ikke er solide,
eller som har skjulte faremomenter bak seg, for
eksempel elektriske kabler eller rar.

+ Ikke foreta uautoriserte endringer pa dette produktet.

* Ikke eksponer hgyttaleren eller
monteringskomponentene for kiemikalier som ikke
er spesifisert av Bose Professional, inkludert, men
ikke begrenset til, smaremidler, rengjeringsmidler,
kontaktsprayer eller andre hydrokarbonbaserte
opplasningsmidler. Slike midler kan forarsake at
plastmaterialet brytes ned, som igjen kan forarsake
sprekker og at hgyttaleren faller ned.

*Ikke plasser eller monter braketten eller produktet
i neerheten av varmekilder, for eksempel ildsteder,
radiatorer, varmeapparater, ovner eller andre
apparater (herunder forsterkere) som produserer
varme.

Importer i EU: Transom Post Netherlands B.V.,
Keizersgracht 391A, 1016 EJ, Amsterdam | Britisk
importer: Transom Post Netherlands UK, Squires
House 205a High Street, West Wickham, BR4 OPH

| Japansk importer: Transom Post International
Japan KK Co., Ltd. PMO Tamachi IV Shiba5-29-19,
Minato-ku, Tokyo | Kinesisk importer: Transom Post
(Shanghai) Audio Co. Ltd Room 2209, Building 1, 175
Longyao Road, Xuhui District, Shanghai | Meksikansk
importer: POST INTL MEXICO, S. DER.L. DE

C.V. Insurgentes Sur No. 1079, 1st floor, Colonia
Noche Buena, Benito Juérez, C.P. 03270, Mexico
City | Importer for De forente arabiske emirater:
Transom Post Audio Visual Recording Equipment and
Accessories Trading LLC, 504, Al Fattan Plaza, Al
Garhoud, PO Box 118355 Dubai, De forente arabiske
emirater

Bose Professional, 117 South St, Hopkinton, MA 01748
USA

Bose er et varemerke som tilhgrer Bose Corporation.
©2025 Transom Post OpCo LLC. Ingen del av dette

arbeidet kan bli reprodusert, endret, distribuert eller pa
annen méte brukt uten skriftlig tillatelse pa forhand.

Garantiinformasjon

Dette produktet er dekket av en begrenset garanti.

Hvis du vil ha garantiinformasjon, kan du ga til BoseProfessional.
com/warranty.

ESPANOL
ADVERTENCIAS/PRECAUCIONES

Lee y conserva todas las instrucciones de usoy
seguridad.

S Contiene piezas pequefias que pueden provocar
@ asfixia. No recomendable para nifios menores de

3 afios.

+ Este producto esta disefiado para ser instalado
Unicamente por instaladores profesionales. Este
documento tiene por objeto proveer las pautas de
seguridad e instalacion basicas a los instaladores
profesionales de este producto en sistemas comunes
de instalacion fija. Lee este documento y todas las
advertencias de seguridad antes de comenzar la
instalacion.

+ El'montaje inseguro o la suspension en altura de
cualquier carga pesada pueden provocar lesiones
graves o la muerte, ademas de dafios a la propiedad.
Es responsabilidad del instalador evaluar la confiabilidad
de cualquier método de montaje utilizado para su
aplicacion. Solo los instaladores profesionales con
conocimiento de los componentes fisicos adecuados y
las técnicas de montaje seguro deberian intentar instalar
cualquier altavoz en altura.

+ Todos los productos Bose Professional deben instalarse
conforme a las leyes locales, estatales, federales y del
sector. Es responsabilidad del instalador garantizar que
la instalacion del sistema de soporte y los altavoces se
realice conforme a los cédigos aplicables, incluidos los
codigos y las reglamentaciones de construccion locales.
Consulta a la autoridad local competente antes de
instalar este producto.

+ Utiliza solo el hardware y los accesorios incluidos o
especificados por Bose Professional.

+ Montar Unicamente en superficies que sean resistentes
y que no presenten peligros ocultos, como cableado
eléctrico o plomeria.

+ No realices alteraciones no autorizadas a este producto.

+ No expongas el altavoz ni los componentes de montaje
a sustancias quimicas que no hayan sido especificadas
por Bose Professional, incluidos, entre otros, lubricantes,
productos de limpieza, aerosoles de contacto u otros
disolventes a base de hidrocarburos. La exposicion
a estas sustancias puede degradar el plastico, lo
que produce grietas y el riesgo de que se caiga el
dispositivo.

+ No instales ni coloques el soporte ni el producto cerca
de fuentes de calor, como chimeneas, radiadores,
rejillas de calefaccion u otros aparatos (incluidos
amplificadores) que produzcan calor.

Importador en la UE: Transom Post Netherlands B.V.,

Keizersgracht 391A, 1016 EJ, Amsterdam | Importador en

el Reino Unido: Transom Post Netherlands UK, Squires

House 205a High Street, West Wickham, BR4 OPH |

Importador en Japoén: Transom Post International Japan

KK Co., Ltd. PMO Tamachi IV Shiba5-29-19, Minato-ku,

Tokio | Importador en China: Transom Post (Shanghai)

Audio Co. Ltd Room 2209, Building 1, 175 Longyao Road,

Xuhui District, Shanghéi | Importador en México: POST

INTL MEXICO, S. DE R.L. DE C.V. Insurgentes Sur n.°

1079, piso 1, Colonia Noche Buena, Benito Juarez, C.P.

03270, Ciudad de México | Importador en los EAU:

Transom Post Audio Visual Recording Equipment and

Accessories Trading LLC, 504, Al Fattan Plaza, Al Garhoud,

PO Box 118355, Dubai, Emiratos Arabes Unidos

Bose Professional, 117 South St, Hopkinton, MA 01748

EE. UU.

Bose es una marca comercial de Bose Corporation.

©2025 Transom Post OpCo LLC. Ninguna parte de esta
obra podra reproducirse, modificarse, distribuirse ni usarse
sin un permiso previo por escrito.

Informacion de la garantia

Este producto esta cubierto con una garantia limitada.

Para obtener detalles sobre la garantia, visita BoseProfessional.
com/warranty.

POLSKI
OSTRZEZENIA/PRZESTROGI

Nalezy zapoznac sie ze wszystkimi zaleceniami
dotyczacymi bezpieczenstwa oraz instrukcjami
uzytkowania i zachowac je.

Produkt zawiera mate cze$ci mogace
spowodowac zadtawienie sie. Nie jest on
odpowiedni dla dzieci w wieku ponizej 3 lat.

* Instalacje niniejszego produktu moze przeprowadzi¢
wylgcznie specjalista! Niniejszy dokument ma na
celu dostarczenie profesjonalnym instalatorom
podstawowych wskazowek dotyczacych instalacji
i bezpieczenstwa tego produktu w typowych, statych
instalacjach. Przed przystapieniem do instalacji nalezy
zapoznac sie z niniejszym dokumentem i wszystkimi
ostrzezeniami dotyczacymi bezpieczenstwa.

+ Niebezpieczny montaz lub podwieszenie cigzkiego
tadunku moze spowodowac powazne obrazenia
lub $mier¢ oraz uszkodzenie mienia. Do obowigzkéw
instalatora nalezy ocena niezawodno$ci kazdej
metody montazu stosowanej w tym przypadku. Montaz
podwieszanych glosnikow moze by¢ przeprowadzany
wytacznie przez profesjonalnych instalatoréw
posiadajacych wiedze o odpowiednim sprzecie
i bezpiecznych technikach montazu.

+ Wszystkie produkty Bose Professional musza by¢
instalowane zgodnie z przepisami lokalnymi, krajowymi,
federalnymi i branzowymi. Instalator jest zobowigzany
zainstalowac glosniki i system montazowy zgodnie
ze wszystkimi obowigzujacymi regulaminami, w tym
regulaminami i przepisami obowigzujacymi w budynku.
Przed instalacjg produktu nalezy skonsultowa¢ sie
z odpowiednimi wtadzami.

+ Nalezy uzywac wylacznie sprzetu i akcesoriow
dostarczonych lub wskazanych przez Bose
Professional.

+Nie montowa¢ na powierzchniach niewystarczajaco
solidnych lub stwarzajacych zagrozenia zwigzane
na przyktad z instalacjg elekiryczna lub hydrauliczna,

+Nie wolno dokonywa¢ modyfikacji produktu bez
zezwolenia.

+ Nie wolno naraza¢ glo$nika lub elementéw
montazowych na dziatanie substancji chemicznych,
ktore nie zostaty dopuszczone przez Bose
Professional, w tym m.in. Srodkéw smarnych
i czyszczacych, $rodkéw do ochrony instalacji
elektrycznych oraz innych rozpuszczalnikéw na bazie
weglowodoréw. Narazenie na dziatanie takich
substancji moze prowadzi¢ do degradacji materiatow
plastikowych, a w rezultacie do pekania i stworzenia
zagrozenia upadkiem.

+ Uchwytu ani produktu nie wolno umieszczac¢ w poblizu
zrodet ciepta, takich jak kominki, grzejniki, kaloryfery
lub inne urzadzenia wytwarzajace ciepto (w tym
wzmacniacze).

Importer — UE: Transom Post Netherlands B.V.,

Keizersgracht 391A, 1016 EJ, Amsterdam | Importer —

Wielka Brytania: Transom Post Netherlands UK, Squires

House 205a High Street, West Wickham, BR4 OPH |

Importer — Japonia: Transom Post International Japan

KK Co., Ltd. PMO Tamachi IV Shiba5-29-19, Minato-ku,

Tokio | Importer — Chiny: Transom Post (Shanghaj

Audio Co. Ltd Room 2209, Building 1, 175 Longyao Road,

Xuhui District, Shanghaj | Importer — Meksyk: POST

INTL MEXICO, S. DE R.L. DE C.V. Insurgentes Sur No.

1079, 1st floor, Colonia Noche Buena, Benito Juarez, C.P.

03270, Meksyk | Importer — ZEA: Transom Post Audio

Visual Recording Equipment and Accessories Trading

LLC, 504, Al Fattan Plaza, Al Garhoud, PO Box 118355

Dubaj, ZEA

Bose Professional, 117 South St, Hopkinton, MA 01748

Stany Zjednoczone

Bose jest znakiem towarowym firmy Bose Corporation.

©2025 Transom Post OpCo LLC. Zadnej czesci

tego dzieta nie wolno reprodukowa¢, modyfikowac,

rozpowszechnia¢ ani w inny sposob wykorzystywac bez

uprzedniego uzyskania pisemnego pozwolenia.

Informacje o gwarancji

Opisywany produkt objety jest ograniczong gwarancja.
Wiecej informacii 0 gwarancji mozna znalez¢ na stronie

BoseProfessional.com/warranty.

FRANCAIS
AVERTISSEMENTS/PRECAUTIONS

Merci de lire et de conserver le manuel d’instruction et
de respecter les consignes de sécurité.

Certaines pieces de petites dimensions peuvent
@ provoquer un étouffement. Ne pas laisser 'appareil
a la portée d’enfants de moins de 3 ans.

+ L'installation de ce produit doit étre effectuée par un
technicien professionnel ! Ce document est destiné a
fournir aux techniciens professionnels les directives de
montage et de sécurité relatives a ce produit dédié a
une installation fixe. Avant de procéder a l'installation,
veulillez lire ce document, ainsi que I'ensemble des
avertissements de sécurité.

+ Tout montage non sécurisé ou suspension en hauteur
d'une lourde charge peut provoquer des dégats
matériels et des blessures graves, voire la mort. |l
est de la responsabilité de l'installateur d'évaluer la
fiabilité de la méthode de montage utilisée, en fonction
de l'application. Seul un installateur professionnel
connaissant les accessoires et techniques de montage
adaptés est qualifié pour installer des enceintes en
hauteur.

+ Tous les produits Bose Professional doivent étre
installés dans le respect des réglementations locales
et nationales. L'installateur est responsable du respect
de tous les codes et reglements locaux et nationaux en
vigueur applicables a l'installation et au montage des
enceintes. Consultez les autorités locales compétentes
avant d'installer ce produit.

+ Utilisez exclusivement le matériel et les accessoires
fournis ou spécifiés par Bose Professional.

+ Ninstallez pas I'appareil sur des surfaces peu
résistantes ou dans lesquelles peuvent étre intégrés des
éléments dangereus, tels que des fils électriques ou des
tuyaux de plomberie.

+ Veillez a ne pas effectuer de modifications non
autorisées sur ce produit.

+ N'exposez pas I'enceinte ou les accessoires de montage
a des substances chimiques qui ne sont pas spécifiées
par Bose Professional, par exemple (mais pas que) les
lubrifiants, les produits de nettoyage, les sprays pour
contacts ou autres solvants & base d’hydrocarbures.
L'exposition a de telles substances peut provoquer une
dégradation du matériau plastique, se traduisant par des
félures pouvant conduire a une chute de I'enceinte.

+ Ninstallez pas le support ou le produit a proximité
d'une source de chaleur, telle qu'une cheminée, un
radiateur, une arrivée d’air chaud ou tout autre appareil
(notamment des amplificateurs) produisant de la chaleur.

Importateur pour I'UE : Transom Post Netherlands B.V.,

Keizersgracht 391A, 1016 EJ, Amsterdam | Importateur

pour le Royaume-Uni : Transom Post Netherlands UK,

Squires House 205a High Street, West Wickham, BR4 OPH

| Importateur pour le Japon : Transom Post International

Japan KK Co., Ltd. PMO Tamachi IV Shiba 5-29-19,

Minato-ku, Tokyo | Importateur pour la Chine : Transom

Post (Shanghai) Audio Co. Ltd Room 2209, Building 1,

175 Longyao Road, Xuhui District, Shanghai | Importateur

pour le Mexique : POST INTL MEXICO, S. DER.L.

DE C.V. Insurgentes Sur No. 1079, 1st floor, Colonia

Noche Buena, Benito Juarez, C.P. 03270, Mexico City |

Importateur pour les Emirats arabes unis : Transom

Post Audio Visual Recording Equipment and Accessories

Trading LLC, 504, Al Fattan Plaza, Al Garhoud, PO Box

118355 Dubai, UAE

Bose Professional, 117 South St, Hopkinton, MA 01748

USA

Bose est une marque commerciale de Bose Corporation.

©2025 Transom Post OpCo LLC. Toute reproduction,

modification, distribution ou autre utilisation, méme partielle,
de ce document est interdite sans autorisation écrite
préalable.

DEUTSCH
WARNHINWEISE

Bitte lesen Sie alle Sicherheitshinweise und
Gebrauchsanleitungen durch und bewahren Sie sie
auf.

) Enthélt kleine Teile, die verschluckt werden
kénnen und eine Erstickungsgefahr darstellen.
Nicht fiir Kinder unter 3 Jahren geeignet.

+ Dieses Produkt darf nur von fachkundigen
Monteuren installiert werden! Dieses Dokument soll
fachkundigen Monteuren grundlegende Installations-
und Sicherheitsrichtlinien fur dieses Produkt in
typischen Festinstallationen bieten. Bitte lesen Sie
dieses Dokument und alle Sicherheitshinweise vor
der Installation durch.

+ Eine nicht ausreichend sichere Montage schwerer
Lasten oder deren Aufhdngung tiber Kopf kann
zu schweren oder tédlichen Verletzungen und
Sachschaden flihren. Der Monteur ist dafiir
verantwortlich, die Zuverlassigkeit der fir die
Anwendung verwendeten Befestigungstechniken zu
prifen. Nur fachkundige Monteure mit Kenntnissen
uber sachgeméafe Befestigungselemente und sichere
Befestigungstechniken sollten Lautsprecher tber
Kopf installieren.

+ Alle Bose Professional Produkte missen geméaf den
ortlichen und staatlichen Vorschriften sowie geman
allen Branchenbestimmungen installiert werden. Der
Monteur ist dafiir verantwortlich, sicherzustellen, dass
die Installation der Lautsprecher und der Halterung
gemal allen geltenden Vorschriften durchgefiihrt
wird, einschlielich ortlicher Bauvorschriften und
Bestimmungen. Wenden Sie sich vor der Installation
dieses Produkts an die zusténdige abnehmende
Behorde.

+ Verwenden Sie ausschlieflich die im Lieferumfang
enthaltene oder von Bose Professional zugelassene
Hardware und entsprechende Zubehorteile.

+ Bei der Montage ist auf eine tragfahige Oberflache
zu achten, hinter der sich keine strom- oder
wasserfiihrenden Leitungen befinden.

+ Nehmen Sie keine nicht genehmigten Anderungen an
diesem Produkt vor.

+ Stellen Sie sicher, dass der Lautsprecher und
die Montagekomponenten nicht mit chemischen
Substanzen in Berlihrung kommen, die nicht von
Bose Professional zugelassen sind. Dies umfasst
unter anderem Schmiermittel, Reinigungsmittel,
Kontaktspray oder andere Ldsungsmittel auf
Kohlenwasserstoffbasis. Der Kontakt mit solchen
Mitteln kann zu Rissen im Kunststoffmaterial und
infolgedessen zum Herunterfallen fihren.

+ Montieren oder platzieren Sie das Produkt nicht
in der Nahe von Warmequellen wie Heizkdrpern,
Warmespeichern oder anderen Geréten (auch
Verstarkern), die Warme erzeugen.

Importeur aus der EU: Transom Post Netherlands
B.V., Keizersgracht 391A, 1016 EJ, Amsterdam |
Importeur aus GroRbritannien: Transom Post
Netherlands UK, Squires House 205a High Street,
West Wickham, BR4 OPH | Importeur aus Japan:
Transom Post International Japan KK Co., Ltd. PMO
Tamachi IV Shiba5-29-19, Minato-ku, Tokio | Importeur
aus China: Transom Post (Shanghai) Audio Co. Ltd
Room 2209, Building 1, 175 Longyao Road, Xuhui
District, Shanghai | Importeur aus Mexiko: POST
INTL MEXICO, S. DE R.L. DE C.V. Insurgentes Sur

No. 1079, 1st Floor, Colonia Noche Buena, Benito
Juérez, C.P. 03270, Mexiko-Stadt | Importeur aus den
VAE: Transom Post Audio Visual Recording Equipment
and Accessories Trading LLC, 504, Al Fattan Plaza, Al
Garhoud PO Box 118355, Dubai, VAE

Bose Professional, 117 South St, Hopkinton, MA 01748,
USA

Bose ist eine Marke der Bose Corporation.

©2025 Transom Post OpCo LLC. Dieses Dokument darf
ohne vorherige schriftliche Genehmigung weder ganz
noch teilweise reproduziert, verandert, vertrieben oder in
anderer Weise verwendet werden.

Informations relatives a la garantie

Cet appareil est couvert par une garantie limitée.
Pour en savoir plus sur la garantie, consultez BoseProfessional.

com/warranty.

Garantiehinweise

Fir dieses Produkt gilt eine eingeschrankte Garantie.
Informationen zur Garantie finden Sie unter BoseProfessional.
com/warranty.

[E1ZNe2D 4

=8/

HERHREREREMERIREA,
BE/EME, AIESHERER. A
&5 35 U LERER.

 AERNABREVARRE RS E
FENEWVREAGREFHENEE
TRAFH LRI RITERNER
RRMLSIEMEREZ A, B
BRAXEHFEREE S,

UARZeHARESR R mEEMA
EYOIRESHTENASHE LT
ek, T3 A GA RETHGTEEN
AR ErE RN RE A ERN R .
QBIERTREGEZRReRER
AR EWLRARA RERIA LRI
mEFAEE.

5 Bose Professional /= @RI R EEER
WABLEST it N /& /T BIa X BXFB
AT ST, T3 N BB RERGRT A
BNLRERZNREIFTSIERRE
M, B35 St E R EMA M E . B
A= andl, B ERA R A B BN S
BN,

X fE PR PR 2 R E A AN P 42X Bose
Professional 57 B %4 & B4

BRAmRETEAELHE BT
;&Fﬁﬂ’ﬂiﬁ, EbansHA BB BB R

REFRR A= fho

BN E RN REA M E Bose
Professional sKixt BARERI L F Y,
BIEEARRF BT EET. Al s
FISEMIZIEAF, FEALEEYBRA]
BER S A mAVEERIM R, M
S~ mARMIEE,

BRI i B B R T
PRI, LIPS A IR R
%)EZET’@ETF‘E%‘&%E’\J&% (B3ETh
B3 O/ : Transom Post Netherlands
B.V., Keizersgracht 391A, 1016 EJ,
Amsterdam | ZE# O : Transom
Post Netherlands UK, Squires House
205a High Street, West Wickham,

BR4 OPH | HZsi# O/ Transom Post
International Japan KK Co., Ltd. PMO
Tamachi IV Shiba5-29-19, Minato-ku,
Tokyo | FRE# O : Transom Post
(Shanghai) Audio Co. Ltd _EiEm#C
XHERR 175 5 1 512209 = | £F
ER#O/: POST INTL MEXICO, S. DE
R.L.DE C.V.Insurgentes Sur No. 1079,
1st floor, Colonia Noche Buena, Benito
Juarez, C.P.03270, Mexico City | fajB%
B93# O/ : Transom Post Audio Visual
Recording Equipment and Accessories
Trading LLC, 504, Al Fattan Plaza, Al
Garhoud PO Box 118355, Dubai, UAE

Bose Professional, 117 South St,
Hopkinton, MA 01748 USA

Bose & Bose Corporation B #Ro

©2025 Transom Post OpCo LLC.RRE
FBEITFA], MFEF BeR. P A UE
5 X ERATEmBIERIER .

BRIER
*ERERARRERS.
BREFRFEMER, 1515
BoseProfessional.com/warranty,

X

BEELER

NI R S REA R RERIET
SERBEAESREL BRI
U TBE 3 AT B

- AEMERBIEXREASRE XX
eIt ERFE—REENZERRGR
BUTERAE AL KT B 2 2 2R L fit
HEZRANG2EZTERETREE
Al SRR X AN R 2 E &

EE@J:E%BW@E%E&EEE%I‘:E@%E
B ZHE A EEETHMEEERFER
E’\Mﬂﬂ?t%?‘iﬁ%é‘ﬁfi"?\ﬁﬁﬁi@
E£$§B1¢%ﬂéﬁﬁl§l§%§’%$§ﬁﬁﬂ’9%¥
ZE#E AN B TREARBTMEENTE
ESEIE L

FfiB Bose Professional &R Z28E 4
BT EM M EG A TR S &g
AEAEEHFRBERNLERRIE
SRR SEA E’\J‘}Hﬁ’ﬂﬁﬁiﬂlﬁ’ﬂﬁﬁ
ERARE LA E R Ra R
B AR E BT R
{ZPR{EFEFEMIE & A Bose
Professional 15 € BV A& B4 FIBC 14 o
BN ZEEABERENESER (FI90
BARACE) BIRME
RSB NE B R E R
BRI TR AT R
4% Bose Professional 35 EREE24E »
BIRERRER CHBE S EZE E?ﬁ
BB AR E MR SURE o 1A EY)
B SEFEBBM E R BRI A
R Gk

SHIHE
TEBA > BIGN : BENE S ERE R BAETEE R
S H IR (BIEIEARE)-
ErER:E O - Transom Post Netherlands
B.V., Keizersgracht 391A, 1016 EJ,
Amsterdam | EZEIEORS : Transom Post
Netherlands UK, Squires House 205a
High Street, West Wickham, BR4 OPH |

BZs3# O/ Transom Post International

Japan KK Co., Ltd. PMO Tamachi IV
Shiba5-29-19, Minato-ku, Tokyo | HIE

#O/: Transom Post (Shanghai) Audio

Co. Ltd Room 2209, Building 1, 175

Longyao Road, Xuhui District, Shanghai

| BAEOR :POST INTL MEXICO,
S.DE R.L.DE CV.Insurgentes Sur No.
1079, 1st floor, Colonia Noche Buena,
Benito Judrez, C.P.03270, Mexico City |
FIR{AE S K 2EEO®  Transom Post
Audio Visual Recording Equipment and
Accessories Trading LLC, 504, Al Fattan
Plaza, Al Garhoud, PO Box 118355
Dubai, UAE

Bose Professional, 117 South St,
Hopkinton, MA 01748 USA

Bose % Bose Corporation BIE1Ze
©2025 Transom Post OpCo LLC.ZR&ET8
FEMTD AMEERVEH AU E
A ERA T ER 2 FIE o

EAEMEURLE AN L ENBHE

ZREN A B B R AR

REIEA

ItERZEARFE-

MHREFAZ R 55555 BoseProfessional.com/
warrantye

ITALIANO
AVVISI/AVWERTENZE

Leggere e conservare tutte le istruzioni per la
sicurezza e per I'uso.

Contiene parti piccole che possono costituire
pericolo di soffocamento. Non adatto per
bambini di eta inferiore ai 3 anni.

+ Questo prodotto deve essere installato
esclusivamente da installatori professionisti. Il
presente documento ha lo scopo di fornire agli
installatori professionisti le istruzioni di base per
linstallazione di questo prodotto in sistemi tipici di
installazione fissa. Prima dellinstallazione, leggere
questo documento e le avvertenze sulla sicurezza.

+ Linstallazione o la sospensione non sicura di carichi
pesanti puo causare gravi lesioni alle persone e danni
materiali. E responsabilita dell'installatore valutare
I'affidabilita del metodo di installazione utilizzato per
I'applicazione specifica. Solo installatori professionisti
esperti di hardware e installazione possono installare
un diffusore in posizione sospesa.

« Tutti i prodotti Bose Professional devono essere
installati in conformita agli standard locali, statali,
federali e di settore. E responsabilita dell'installatore
assicurarsi che l'installazione dei diffusori e del
sistema di fissaggio sia eseguita in conformita con le
normative vigenti, compresi i regolamenti edilizi locali.
Prima di installare il prodotto chiedere informazioni
all'autorita locale preposta.

+ Utilizzare solo componenti e accessori forniti 0
specificati da Bose Professional.

+ Non eseguire l'installazione su superfici non
sufficientemente robuste o dietro le quali si
nascondano elementi potenzialmente pericolosi, quali
cavi elettrici o tubature idrauliche.

+ Non apportare a questo prodotto modifiche non
autorizzate.

+ Evitare di esporre il diffusore o i suoi componenti di
montaggio a sostanze chimiche non specificate da
Bose Professional, inclusi per esempio lubrificanti e
detergenti, spray per contatti e altri solventi a base
diidrocarburi. L'esposizione a tali sostanze pud
danneggiare i materiali plastici e causare spaccature,
con conseguenti rischi di caduta.

+ Non posizionare o installare la staffa o il prodotto
in prossimita di fonti di calore, quali caminett,
termosifoni, radiatori o altri dispositivi (inclusi
amplificatori) che emettano calore.

Importatore per 'UE: Transom Post Netherlands B.V.,
Keizersgracht 391A, 1016 EJ, Amsterdam | Importatore
per il Regno Unito: Transom Post Netherlands UK,
Squires House 205a High Street, West Wickham, BR4
OPH | Importatore per il Giappone: Transom Post
International Japan KK Co., Ltd. PMO Tamachi IV
Shiba5-29-19, Minato-ku, Tokyo | Importatore per la
Cina: Transom Post (Shanghai) Audio Co. Ltd Room
2209, Building 1, 175 Longyao Road, Xuhui District,
Shanghai | Importatore per il Messico: POST INTL
MEXICO, S. DE R.L. DE C.V. Insurgentes Sur No. 1079,
1st floor, Colonia Noche Buena, Benito Juarez, C.P.
03270, Citta del Messico | Importatore per gli Emirati
Arabi Uniti: Transom Post Audio Visual Recording
Equipment and Accessories Trading LLC, 504, Al Fattan
Plaza, Al Garhoud, PO Box 118355 Dubai, Emirati Arabi
Uniti

Bose Professional, 117 South St, Hopkinton, MA 01748
USA

Bose e un marchio commerciale di Bose Corporation.
©2025 Transom Post OpCo LLC. Nessuna parte di
questo documento pud essere riprodotta, modificata,
distribuita o usata in altro modo senza previa
autorizzazione scritta.

Informazioni sulla garanzia

Questo prodotto & coperto da una garanzia limitata.

Per i dettagli sulla garanzia, visitare BoseProfessional.com/
warranty.

BAGE

A B R

Z2 LOBREAS SVERGEE &<HidH.
WOTHEBEBTERLSICREL TS,

DEICEEDPTUVVNSARTMA S EN
TUVETImMEFBDOEFHRICITELT

WEt Ao

ABRIE EFIOMTEE ICLBREDHE
BELHBTIASIE — RN REER
B ATLICBIT2AE R0 BEANGHRE

ER2 EDAA RS Uz I RERICRM

LETREIBHIICAELINTORRIC
B2 EEZERATIIEIL,

- BEEYORRERBKEPEL LBBHFAN
DEOHFE BB RIIIFET. XU
NDEEORERCBRDE I BRI IRES
EOERMEZET 2 CIE EIREDE

ETIRHFICAE—H—ZERETZHEII.
Y EYBERE L VR EBRERIMDOH

%%E?%O%Fﬁ@ﬁ@l%%b‘ﬁ5&:5t: LK

23U,

« Bose Professional &%z RiE Y D IE. &4
TR r EFRIEE DR EBEE (RO WIS
W\ ZHUHDEREEIZ RS 2 A0 RRH 2R &\

BRSNS 2TOERICR>TEARRB LY

ZORITEEARET 5 LI TEED
EETT, AR EREY BH1IC. SHUHO
EEERICHERL TS,

o R{R(HE F7z1FBose ProfessionalfgE DEX

DFFERmBE LTI —DH% ZEA
<TEELN,

« REEDBEHNT+DBIZSPREED
ERICEECEE R EDERYIDTEN T
3HEIF AEEmERELAEWVTETU,

o A AKBISEBELBRVTLIEE LY,

o AB—A—CEDFIF A R— UM,
HERERE EAEERL. B LUK
IKEZEEHE T3 EDMDAE% . Bose
ProfessionaliE @ADL EYBICETS T
WTLET W, B@ATSLImEICnd
CETSAFYIEMDLBILIC DB O
iugm“i CTETEREBKEENDLHD

o BRIF E—2— REXED. ZOMDEHAZEH

TREE (7> T2Z0) DiEICTST vk

ZEDMIFID BWREERBLIZDLARVTL

72T,
EUICH T BEIA TT: Transom Post
Netherlands B.V., Keizersgracht 391A,
1016 EJ, Amsterdam | REICH T BEA
7t: Transom Post Netherlands UK, Squires
House 205a High Street, West Wickham,
BR4 OPH | BAICH T BEATT: Transom
Post International Japan KK Co., Ltd. B8R
#AXZ5-29-19 PMOEHHETIV | REICHITS
EATT: Transom Post (Shanghai) Audio Co.
Ltd Room 2209, Building 1, 175 Longyao
Road, Xuhui District, Shanghai | X¥1
ICHB1FBHATT: POST INTL MEXICO, S. DE
R.L.DE C.V.Insurgentes Sur No. 1079, 1st
floor, Colonia Noche Buena, Benito Juarez,
C.P.03270, Mexico City | UAEIZ 1338 A
7t: Transom Post Audio Visual Recording
Equipment and Accessories Trading LLC,
504, Al Fattan Plaza, Al Garhoud, PO Box
118355 Dubai, UAE

Bose Professional, 117 South St, Hopkinton,

MA 01748 USA

Bosel&Bose Corporation DB EHFHEIZE T,
©2025 Transom Post OpCo LLC.AZDUL\h
BEEDH EHEICLZBFIDFFAIDRE
%\ ZE. it eOMMOFRIFFFAInEE

NEDERLANDS
WAARSCHUWINGEN

Lees alle veiligheidsinstructies en de
gebruiksaanwijzing door en bewaar deze.

Bevat kleine onderdelen die een
@ verstikkingsgevaar kunnen vormen. Niet geschikt

voor kinderen jonger dan 3 jaar.

+ Dit product is uitsluitend bestemd voor installatie door
professionele installateurs! Dit document is bedoeld
om professionele installateurs essentiéle installatie-
en veiligheidsrichtlijnen te bieden voor dit product in
standaardsystemen voor vaste installatie. Lees dit
document en alle veiligheidswaarschuwingen voordat u
een systeem probeert te installeren.

+ Het onveilig monteren of ophangen van een
zware last kan leiden tot beschadiging van uw
eigendommen, ernstig letsel en overlijden. Het is
de verantwoordelijkheid van de installateur om de
betrouwbaarheid te evalueren van de gebruikte
montagemethode. Alleen professionele installateurs
met kennis van het juiste gereedschap en veilige
montagetechnieken mogen luidsprekers hoog
ophangen.

+ Alle Bose Professional-producten moeten worden
geinstalleerd volgens de plaatselijke en landelijke
voorschriften en industrienormen. Het is de
verantwoordelijkheid van de installateur om ervoor te
zorgen dat de installatie van de luidsprekers en het
montagesysteem gebeurt met inachtneming van alle van
toepassing zijnde voorschriften, waaronder plaatselijke
bouwvoorschriften. Neem contact op met de juiste
plaatselijke overheidsinstanties voordat u dit product
installeert.

+ Gebruik alleen de hardware en accessoires die zijn
meegeleverd of gespecificeerd door Bose Professional.

+ Niet bevestigen aan oppervlakken die niet sterk zijn of
die mogelijke risico’s opleveren, bijvoorbeeld vanwege
elektrische bedrading of waterleidingen.

+ Ermogen geen wijzigingen aan dit product worden
aangebracht door onbevoegden.

+ Stel de luidspreker of de montageonderdelen niet bloot
aan chemische substanties die niet zijn gespecificeerd
door Bose Professional, met inbegrip van, maar
niet beperkt tot smeermiddelen, reinigingsmiddelen,
contactsprays of andere oplosmiddelen op basis van
koolwaterstoffen. Blootstelling aan dergelijke stoffen kan
nadelige gevolgen hebben voor het kunststof materiaal,
wat kan leiden tot scheuren en een risico op vallen.

+ Plaats of installeer de beugel of het product niet in
de buurt van warmtebronnen, zoals open haarden,
radiatoren, verwarmingsroosters of andere apparaten
(waaronder versterkers) die warmte produceren.

Europese importeur: Transom Post Netherlands B.V.,

Keizersgracht 391A, 1016 EJ, Amsterdam | Importeur in

het VK: Transom Post Netherlands UK, Squires House

205a High Street, West Wickham, BR4 OPH | Importeur
in Japan: Transom Post International Japan KK Co.,

Ltd. PMO Tamachi IV Shiba5-29-19, Minato-ku, Tokyo |

Importeur in China: Transom Post (Shanghai) Audio Co.

Ltd Room 2209, Building 1, 175 Longyao Road, Xuhui

District, Shanghai | Importeur in Mexico: POST INTL

MEXICO, S. DE R.L. DE C.V. Insurgentes Sur No. 1079,

1st floor, Colonia Noche Buena, Benito Juérez, C.P. 03270,

Mexico-stad | Importeur in de VAE: Transom Post Audio

Visual Recording Equipment and Accessories Trading LLC,

504, Al Fattan Plaza, Al Garhoud PO Box 118355, Dubai,

Verenigde Arabische Emiraten

Bose Professional, 117 South St, Hopkinton, MA 01748 VS

Bose is een handelsmerk van Bose Corporation.

©2025 Transom Post OpCo LLC. Niets in deze uitgave

mag worden gereproduceerd, gewijzigd, gedistribueerd

of op andere wijze worden gebruikt zonder voorafgaande

schriftelijke toestemming.

Garantie-informatie

Dit product wordt gedekt door een beperkte garantie.
Ga naar voor meer informatie over de garantie naar
BoseProfessional.com/warranty.

Al
cbgurie) pins /I
L BLERY) 5 aladiu) g Aadlad) cilalid ) JS Bs B )
e LAY i B3 i ¢l al e (s 5iag 'é)

s ¥ e e Jala

Sl Jae J8 (e S il aanas iiall e .
QS il Jlae 3555 ) atisall 138 Caagy add (48 sl
Taalal) Al Al 5 S pall cilalé b Greaadiiall
Bel 8 o b Aand satll il Sl Akl 8 il g
Syl A glaca a8 ASld) ) pdas S avtal) 12a
Gabell 5f ¥V e il 535 of oSy .
Dy ilhy 3 el dilal N ALE Al gen (5Y (5 kel
Pl Al g pnan S il 8 Gle e adiy iSlied)
G et Y Lgaladind oy o A8 )l (6] A8 5 e 52
48K A8 jpaally () sriaty () (i imal) ol aliatdly
Cl i gy (dieY) el 3k s dunliall il WL
alal) 8l 4 g

Bose «iatia JS S 5 g .

Al 5 A Sl g Al =3 11 8 5 Professional
Oleia Al g pase (anadiall S il Jele Jeaty Apelially
58 S e (381 3L il ol g o gaaall S S
Ji i) (alaia¥) duablin dddacd) Adalidl daal je

) el 1 S 5

o Aaaal) Clialall 55 gl (5 s i Y .
.Bose Professional s (s s23all

Lels 48 e mhaud e il iy .
oluall il ) Al eI YT i daia Hlalas

Lo 7 mma e 3t (5l el al ) 2eni Y .
i e

Sl s S f i geall piSa ym s Y N
<Bose Professional 48 » Wt al e 3 e (5¥
N sa ol a3l 3 ga peandl Y JEL Jin e @l ALy
3 el el i o o madlil) clalay S Caasdl
(ol Allas o gl gl (533 28 Ay gy S g pasgll Bac
Ay 2 g eeiall (385 8 ity e ApSn Ul o sall Jlas
Lgiad) ylaal

0o Al g 55 5 i) ) 23S e ¥ .
2l Ss f 8sall f fdlad) e sl all jaias
S @iy b Lay) s,al B el sl sl 31 all <l yen
_$J|); Lg..u c.ui (h_l).aan

Transom Post :=a08¥) 33 A 3 ) gicuall

VY1 YDA Netherlands B.V., Keizersgracht
sdaavial) Alaall A 3 giwal) | EJ, Amsterdam
Transom Post Netherlands UK, Squires

Y. 2a High Street, West Wickham, House
Transom Post bl (4 2, siwal) | «PH BR¢
International Japan KK Co., Ltd. PMO
Minato-ku, Tokyo ,)4-Y4-Tamachi IV Shiba°
Transom Post (Shanghai) :ousall 8 3 siwall |
YYe ) Building ,YY+ % Audio Co. Ltd Room

| Longyao Road, Xuhui District, Shanghai
POST INTL MEXICO, S. :élssall b 3, gicual)
,)+v¥4 DE R.L. DE C.V. Insurgentes Sur No
Vst floor, Colonia Noche Buena, Benito
3,55l | Mexico City ,+¥YV+ Juarez, C.P
Transom Post Audio :3aaiall 4 all < ) B

Visual Recording Equipment and Accessories

Al Fattan Plaza, Al ,¢+ ¢ Trading LLC

Dubai, UAE YYAYee Garhoud, PO Box
South St, Hopkinton, Y)Y ,Bose Professional
USA \Y¢A MA

.Bose Corporation 4s_,4 4, jla3 4a3e 4 Bose
Transom Post 45,4l Y+ Yo el © il s okl (3 i
b i) 138 (g ¢ e ol Fluiind a2e ny OpCo LLC
e b 03 s Al ia ol dey 65l 4l

Olaall J g cila glra

R o Yy Qz:u.d! K'Y ‘53‘_,1

BoseProfessional. 5 b j: Jias (glaall Jualii e J pasll
com/warranty

fREEICDWT

AHRIFREEDHRTY,
REEDNBBLUVRMHICDOEELT )

|%. BoseProfessional.com/warrantyz CE< 7230\,




